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ALGEBRA (Q 2 & 3, PAPER 1)
1998
2 (a) Solve
5x—-2y =13
3(x—4) =4y.
(b) Find the value of
a-b+1
a+b+1
when a=4 and b =2.
(c) (i) Write v125 as a power of 5.
(ii) Solve for x the equation
52X+1 1 3
5 E—\/15j |
3 (a) Expressp interms of g andtwhen
Y
+=—=31=0.
. 5t
(b) (i) If (x—2) isa factor of 3x* + x* +kx+6, find the value of k.
(if) Write down an equation which has three roots of value -3, 1 and 5.
(c) (i) Write L+ 2 as a single fraction where x= -1 and x # 3.
Xx+1 x-3
(if) Hence, or otherwise, find, correct to one place of decimals, the two solutions of
LJrizl, X#-1 X#3.
x+1 x-3
ANSWERS
2 (@ x=2y=-23 3 (a) p=15t-5tq
(b) —£=-0-28 (b) (i) -17 (ii) x*-3x*-13x+15=0
© () 5* (ii) =3 © ) =1 (i) x=—0-4,5.4
X°—2Xx-3




